Assignment 20

1. Graph a line starting
with the point (6,3)

that has a slope of %

Write the equation of
the line.

2. Graph a line that
passes through points
(4,-3) and (2,1).

Write the equation of
the line.

3. Graph a line that
passes through points
(-2,-3) and (-2,5).

Write the equation of
the line.

4. Graph a line starting
with the point (—4,-2)
that has a slope of 0.

Write the equation of
the line.

Find the slope of the following pairs of points

using the slope formula: m = YT h .

Xy =X

—_

. (1L,2) 5 (5,-6)

2. (-2,-3); (3.2)

3. (-1,2); (4,2)

4. (-3,2); (9,-2)

5. (6,3); (6,-3)

6. (-4,0); (0,8)

Name:

1.

Write the equation of the line that has a
slope of —3 and and passes through the
point (2,6).

Write the equation of the line that has a

slope of % and and passes through the
point (—6,—1).

Write the equation of the line that has a slope

1 .
of — 2 and a y-intercept of 5.

Write the equation of the line that has a

slope of —% and and passes through the
point (—12,9).



1. Graph a line parallel to y 1. Write the equation of the line that is parallel to Point Slope Practice

1 1 . . . .
y= 5x+ 5 that passes y= _Ex — 5 and passes through (4,1). Write the equation of each line in point slope
through (4.,0) form through the given point with the given
' slope. Remember point-slope form is:
Write the equation of g ' Y= Yo =mx—x,).
the line.

1. (=1,3); m=2

2. Graph a line parallel to y

4 2. Write the equation of the line that is parallel to
y:—gx that passes y=x+6 and passes through (-2,-5). 2. (4,-3); m=—l
9 9 2

through (6,-3).

Write the equation of

the line.

3. (6,1); m=—

3. Graph a line parallel to '

y = x that passes

through (-3,-5). 3. Write the equation of the line that is parallel to

2
y=—ux and passes through (0,5). 4. (-2,5); m=-1

Write the equation of = x 3
the line.

2
5. 54); m=-=
(5.4) 3

4. Graph a line parallel to

y= %x +5 that passes

through (—4,-6). 4. Write the equation of the line that is parallel to
y=-3x and has a y— intercept of 4.

Write the equation of

5
= x 6. 8,-1);m=—
( ), m 4

the line.




